
Time: 10 Minutes Paper G. Science 6th Total Marks: 10

3rd Month, 1st Week, 3rd Day Syllabus: Unit # 5:  Particles in material objects to

particles in liquids.

Q.No.1 Encircle the correct answer from the following choices. (0.5×4=2)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. In which state of matter attractive forces are strongest?

ââââŠŠŠŠ{{{{ÅÅÅÅÃÃÃÃyyyyÏÏÏÏqqqqªªªª~~~~ææææÅÅÅÅ̄̄̄̄ggggwwww¢¢¢¢ooooFFFF,,,,++++ƒƒƒƒCCCC÷÷÷÷????

(a) Liquids âO] (b) Gases v (c) Solids k̂ (d) both a&b ŠzâV c&a

2. The space is negligible in: . ~~~~ÜÜÜÜ::::ƒƒƒƒääääÆÆÆÆ'''',,,,ZZZZ'''',,,,ƒƒƒƒ@@@@****ìììì _________

(a) Water 0*ã (b) Alcohol ZÈi

(c) Soft drink ‚Åeg7- (d) Book Â[

3. Particles have an orderly arrangment. ÆÆÆÆffffggggZZZZ]]]]FFFF,,,,KKKKMMMM~~~~7777,,,,}}}}ƒƒƒƒDDDD÷÷÷÷XXXX ______

(a) Liquids âO] (b) Solids k̂ (c) Gases v (d) Plasma öi)

4. The attractive force between water molecules are strong but weaker than _____.

ÅÅÅÅÚÚÚÚ$$$$zzzzggggƒƒƒƒCCCC÷÷÷÷XXXX _______ 0000****ããããÆÆÆÆââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGG²²²²ÆÆÆÆŠŠŠŠggggxxxxyyyyææææÅÅÅÅ̄̄̄̄ggggwwww¢¢¢¢ooooƒƒƒƒCCCCììììpppp

(a) Gases v (b) Plasma öi) (c) Solids k̂ (d) Liquids âO]

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Why solids have fixed shape and volume? k̂Å̂ZzgzZCxºmYVƒD÷?

(ii) Why liquids cannot compressed easily? âO]Ã!*W‚ãYV7Š!*c*YY?

Q.No.3. Why is the volume of liquids remains fixed? Also explain its particles

arrangment. (4)

ââââOOOO]]]]»»»»zzzzZZZZCCCCxxxxååååZZZZqqqq----6666YYYYVVVVƒƒƒƒ@@@@****ìììì????ZZZZkkkkÆÆÆÆffffggggZZZZ]]]]ÅÅÅÅFFFF,,,,KKKKMMMMÅÅÅÅzzzzŸŸŸŸssss####ÌÌÌÌ™™™™,,,,XXXX
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